Math 4d. Class work 1.

A. Word problems.
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Read the following “word problems”. What can you tell about each of them? Try

to solve them.

a) Jessica is older than Sam, Ann is older than Jessica, and Robert’s age is same
as Sam’s. Who is the oldest?

b) Mike has 25 cards; John has 5 cards more than Mike. How many cards do John,
Mike and Robert have altogether?

c) On afarm there were 6 cows and 20 sheep. Each cow gives 4 gallons of milk
every day. How many farm animals were there on the farm?

d) In a math class 10 students were solving problems. Each student solved exactly
5 problems. How many students did solve 7 problems?

e) In a math class 10 students were solving problems. Each student solved at least
5 problems. How many students did solve 7 problems?

f) Two circles touch at a single point (tangent circles). One has radius of10 cm and
the other has radius of 6 cm. What is the distance between the centers of these

circles?

1. A dog weighs 2 pounds more than a cat. Together, a dog and a cat weigh 12
pounds. How many pounds does the dog weigh? How many pounds does the cat

weigh?
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What do we know?
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What is the question?
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C+(C+2)=12lb

What do we know? What is the
guestion?
Cat-C Cat-?
Dog—C+2 Dog-?
Altogether -121b
Cat 2lb

Cat
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2. An adult elephant weighs 10833 pounds more than a baby elephant.
Together they weigh 32037 pounds. How many pounds does a baby
elephant weight?

What do we know? What is the question?

Draw a schematic picture of the problem if it can help you:

3. In alake there are 4 times as many trout as bass. There are 1585 bass and trout
altogether. How many trout and how many bass there are in the lake?

What do we know? What is the question?

Draw the schematic picture of the problem if it can help you:
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4. In an elementary school there are 155 studens. E of them like math, half of the rest

like language art. How many students do like language art?

What do we know? What is the question?




Exercises:

1. Solve the following equations:
Example;
21x|+|8 =] 3|6
2lx=36|-8
2lx|=28
x = 28+|2
x| =14
a) x —14 =28
b) 4—y=7
C) 5x+7 =052
2. Calculate:
Example:
(81 =12 +13)x|3|+|(5|6]- 3 d)=[(4H3)X3|+22 = 2|1 +|212|=483
a. (244+18)+7—-0x(82—58)+ 16 x 3;
b. 21+(96—-89)+ (7 x4+ 6) X2 —56+56;
3. There are 93 students in the 1%, 2" and 3" grades altogether.
The number of students in the 1%t and 2" grades is 62, and in 2" and 3"
grades is 64. How many students are there in each grade?
4. Replace the addition with multiplication:




Example:

1114 |+|114 |+ 1|4=4 %14

X+ =8 XX

b. 120+ 120+ 120 + 120 iﬂmes

C. a+ta+a+a+a+a+a-+a; 9 L15+15+___+15J;

d x+x+x+x+x; 100times

e. 9 L Qs L Q9. a+a+..+a.
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